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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3}, or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

She's not very --——---—- in the way she treats her children; they may be punished today for
somcething they were rewarded for yesterday!
1} dominant 2) restrictive 3 ) consistent 4) propoitional
She bas the --~----—- of being one of the few people to have received an honorary degree from
the university this year.
1) extraction 2) detection 3) distinction 4) simulation
Financial -—-eee-- on the compapy are preventing them from employing new staff.
1) resolutions 2} deductions 3) approaches 4) constraints
The pattern ---—re-e from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents.
1) occurring 2) assuming 3) identifying 4) emerging
The changes to the national health system will be —--—--— next year; people won't have to
worry about long waiting lists for hospitals anymore.
1) converted ~ 2)intervened 3) accompanied 4} implemented
The course is essentially theoretical in---—------- , but you'll need some practical work experience
before you can apply for the job.
1) process 2} function 3) orientation 4) exploitation
The report suggests that there has only been a(n) --—-—— improvement in women's pay over
the past few years.
1) ultimate 2) eventual 3) marginal - 4) enormous
She gave me this jumper, which she had ------ ---- herself.
1) knitted 2} knitted it 3) been knitted 4) been knitted it
The teacher suggested that Ali --—------ the lesson at least twice before taking the test.
1) reviews 2) review 3) reviewed 4) reviewing
He was in such bad shape and asked for my help. It was impossible to ~-----—-.
1) refuse 2) refusing 3) refused 4) be refused

e — S

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each |
blank. Then mark your choice on your answer sheet.

Humicane Floyd, one of the most powerful storms ever (11) -=-------- in the Atlantic, has pounded
the Central Bahamas and set its sights (12) -——----- Florida. The storm brought heavy rains and
strong winds of up to 200 kph., (13} --------- residents sought refuge in boarded up homes.
Forecasters say Floyd is capable of (14) --——----- destruction and the states of Florida and Georgia
have ordered more than two million peopie (15) ------=--- the Atlantic shoreline.

1) recoding 2) to record 3) recorded 4) was recorded

1) to 2)on 3)in 4) from

1) as 2) that . 3) whose 4) which

1) mass 2) a mass 3) the mass 4) that mass

1} evacuated 2) to evacuate 3) for evacuation 4) evacuating



Part C. Reding Com prehn

Directions: Read the following passages and choose the best choice (1), (2), (3), or (4). Then
mark it on your answer sheet,

PASSAGE 1:

A constructed wetland is an artificial marsh or swamp, created for anthropogenic
discharge such as wastewater, stormwater runoff or sewage treatment, and as habitat for
wildiife, or for land reclamation after mining or other disturbance. Natural wetlands act
as biofilters, removing sediments and pollutants such as heavy metals from the water,
and constructed wetlands can be designed to emulate these features. Vegetation in a
wetland provides a substrate (roots, stems, and leaves) upon which microorganisms that
break down organic materials can grow. This community of microorganisms is known
as the periphyton. The periphyton and natural chemical processes are responsible for
approximately 90 percent of pollutant removal and waste breakdown. The plants
remove about 7 to 10 percent of pollutants, and act as a carbon source for the microbes
when they decay. Different species of aquatic plants have different rates of heavy metal
uptake, a consideration for plant selection in a constructed wetland used for water
treatment. Constructed wetlands are of two basic types: subsurface-flow and surface-
flow wetlands, Subsurface-flow wetlands move effluent {(agricultural or mining runoff,
tannery or meat processing wastes, wastewater from sewage or storm drains, or other
water 1o be cleansed) through a gravel or sand medium on which plants are rooted;
surface-flow wetlands move effluent above the soil in a planted marsh or swamp, and
thus can be supported by a wider variety of soil types including bay mud and other silty
clays. In subsurface-flow systems, the effluent may move either horizontally, parallel to
-the surface, or vertically, from the planted layer down through the substrate and out.
Subsurface horizontal-flow wetlands are less hospitable to mosquitoes, whose
populations can be a problem in consiructed wetlands. Subsurface-flow systems have
the advantage of requiring less land area for water treatment, but are not generally as
suitable for wildlife habitat as are surface-flow constructed wetlands.

16- Which of the following about a constructed wetland is NOT TRUE according to the passage?
1) It may be developed to treat sewage.
2) It 1s designed to replace natural wetlands
3) It might have initially started out as a mining site
4) It can function to remove heavy metals from water
17- It is stated in the passage that ~~-<w--— -
1) substrate in a wetland grows upon its microorganisms
2) waste breakdown in a wetland is partly due to the activity of periphyton
3) periphyton causes the breakdown of microorganism communities
4) wetland microorganisms are responsible for the growth of organic matenals
18- The passage mentions that --—------ .
1) surface-flow wetlands depend less on the kind of soil that supports them
2) meat processing sewage is best treated in subsurface - flow wetlands
3) plant selection in & constructed wetland increases its carbon uptake
4) microbes decay when the carbon source in a wetland is removed
19- [Itis best implied in the passage that -————-~—,
1) wildlife habitat finds a more suitable home in surface - flow wetlands
2) land area in a wetland is an advantage to be seriously taken account of
3) a wetland attracts large numbers of mosquitoes because of its many plants
4) subsurface-flow wetlands are generally preferable to surface flow wetlands
20- The word 'emulate’ in line 5 is closest in meaning to ----—=,

1) 'benefit' 2) " establish’ 3) 'follow’ 4} ‘occur’
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PASSAGE 2:

Kyoto is a “cap and trade’ sysiem that imposes national caps on the emissions of Annex
L countries. On average, this cap requires countries to reduce their emissions 5.2%
below their 1990 baseline over the 2008 to 2012 period. Although these caps are
national-level commitments, in practice most countries will devolve their emissions
targets to individual industrial entities, such as a power plant or paper factory. This is
the case today in the EU, and other countries may follow suit in time. This means that
the ultimate buyers of Credits are often individual companies that expect their emissions
to exceed their quota (their Assigned Amount Units, Allowances for short). Typically,
they will purchase Credits directly from another party with excess allowances, from a
broker, from a JI/CDM developer, or on an exchange. National governments, some of
whom may not have devolved responsibility for meeting Kyoto targets to industry, and
that have a net deficit of Allowances, will buy credits for their own account, mainly
from JI/CDM developers. These deals are occasionally done directly through a national
fund or agency, as in the case of the Dutch government’s ERUPT programme, or via
collective funds such as the World Bank’s Prototype Carbon Fund (PCF). Since Carbon
Credits are tradeable instruments with a transparent price, financial investors have
started buying them for pure trading purposes, This market is expected to grow
substantially, with banks, brokers, funds, arbitrageurs and private traders eventually
participating. Emissions Trading PLC, for example, was floated on the London Stock

Exchange's AiM market in 2005 with the specific remit of investing in emissions
instruments.

Which of the following is TRUE according to the passage?

1) Countries' commitment to the 'cap and trade' system does not practically work at the national

level.
2) Kyoto and Annex I countries work together to develop a cap and trade system by 2012.
3) Annex [ countries have imposed a national cap on their emissions in Kyoto.

4} The Kyoto 'cap and trade’ system has become operational since 1950.

It is stated in the passage that ———----,

1) governments are usually unable to exchange their deficit for credit

2) excess allowances can be purchased on credit from a broker or a CDM developer

3) individual companies exceed their emissions through their Assigned Amount Units

4) national governments often meet their responsibilities for emission by buying ‘credit’
The passage mentions that -——-—-—,

1) JVYCDM developers are the main bodies that set targets for Allowances

2) governments worldwide have largely managed to put a cap on their emissions

3) the World Bank's PCF can implicitly help governments meet their emission targets

4) Carbon credits were originally on offer at the Dutch government's ERUPT programme
It is stated in the passage that --~-—- e

1) Emissions Trading PLC has heavily invested in the manufacture of emissions instruments
2) carbon credits are unfortunately of no fixed value and sold illegally in some markets
3) the PCF market is likely to develop partly due to the participation of brokers and funds
4) it is a condition with the Kyoto protocol to buy and sell credits in the Stock Exchange
The word 'remit’ in line2¢ is closet in meaning to ---—-—- .

1) 'assistance' 2) 'distinction’ 3) 'procedure’ 4) 'responsibility’
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PASSAGE 3:

Under United States environmental law an EIA is referred to as the Environmental
Impact Statement (EIS), and originated in the National Environmental Policy Act
(NEPA), enacted in the Unifed States in 1969, Certain actions of federal agencies must
be preceded by an EIS. Contrary to a widespread misconception, NEPA does not
pr:}l}rbrt the federal government or its licensees/permittees from harming the
environment, nor does it specify any penally if the EIS turns out to be inaccurate,
intentinf{ally or otherwise. NEPA merely requires that plausible statements as to the
prospective impacts be disclosed in advance. It is only a procedural requirement.
Usually, an agency will release a Draft Environmental Impact Statement (DEIS) for

- comment. Interested parties and the general public have the opportunity to comment on
the drafi, after which the agency will approve the Final Environmental Impact
Statement (FEIS). Occasionally, the agency will later release a Supplemental
Environmental Impact Statement (SEIS). The adequacy of an EIS can be challenged in
court. Major proposed projects have been blocked because of an agency's failure to
prepare an acceptable EIS. One prominent example was the Westway landfill and
highway development in and along the Hudson River in New York City. Another
meintnt case involved the Sierra Club suing the Nevada Department of
l”ranspc.:rmlmn over its denial of Sierra Club's request to issue a supplemental EIS
anressmg air emissions of particulate matter and hazardous air pollutants in the case of
widening US Highway 95 through Las Vegas The case reached the 9th Circuit Court of
the United States, which led to construction on the highway being halted until the
court's final decision. The case was settled prior to the court's final decision.

Which of the following is TRUE according to the passage?

1) It is commonly believed the NEPA protects the environment from governmental harm.

2) Actions of federal agencies are certainly dependent upon an EIS.

3) The EIS gets the penalty for being intentionally inaccurate.

4) The EIA and NEPA were both enacted in the US in 1969

It is stated in the passage that ------—-- A

1) SEIS, FEIS and DEIS are, in fact, rarely disclosed to all the parties involved

2) DEIS is a procedural requirement which provides the opportunity for a formal draft

3) FEIS is approved only after the DEIS has been released and commented upon

4) DEIS and FEIS depend on one another in cases where the general public is concerned

The passage mentions that -=-=-—---.

1) Westway landfill and highway development along the Hudson River was a prominent project
2) lack of a proper EIS can be damaging to the start and completion of projects

3) the Sierra Club issued an EIS to deal with the problem of air emission in Highway 95 in Las
Vegas

4) the Nevada Department of Transportation denied the Sierra Club the right to issue a
supplemental EIS

Which of the following about US Highway 95 is TRUE according to the passage?

1) It ran through the 9" Circuit Court of the United States

2) It was finally left unfinished according to the ruling of the court

3) Its case did not have to wait for the court's final decision to be scitled

4) It involved huge amounts of particular matter and hazardous air pollutants

The word 'plausible’ in line7 means ---—--—-—.

1) 'essential’ 2) 'obligatory’ 3) 'reasonable’ 4) 'satisfactory’
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5 Fopphe | e fpdan | Z6p e z Aonphe | Srfphe | ZUpghe
0.70 - .7580 2420 2580 2.80 9974 0026 4074
0.71 7611 2380 2611 2.81 9975 0025 4975
0.72 7642 2358 2642 2.82 9976 0024 4976
0.73 7673 2327 2673 2.83 9977 0023 4977
0.74 7704 2296 2704 2.84 9977 0023 4977
0.75 7734 2266 2734 2.85 0978 0022 4978
0.76 7764 2236 2764 2.86 .9979 0021 4979
0.77 T794 2906 2794 287 9979 0021 4879
0.78 7823 2177 2823 2.88 8980 0020 L4980
0.79 7852 2148 2852 2.89 9981 0019 4981
0.80 7881 2119 2881 2.90 5981 0019 4981
0.81 L7910 2090 2910 2.91 9982 L0018 4882
0.82 7939 2061 .2039 2,92 9082 0018 4982
0.83 7967 2033 2087 2.93 90983 L0017 4083
0.84 7995 2005 2095 2.94 .9984 0016 4984
0.85 8023 1977 3023 2.95 9984 0016 4984
0.86 8051 .1g49 L3051 2.96 S985 0015 4985
0.87 8078 1922 .3078 2.97 .9985 0015 4985
0.88 8106 1894 3106 298 9986 0014 4986
0.89 2133 1867 3133 2.99 9986 0014 4986
0.80 - 8159 1841 3159 3.00 9987 0013 4087
0.91 8188 1814 .3186 3.01 9987 0013 4987
0.92 8212 1788 .3212 3.02 5987 0013 4987
0.93 8233 1762 .3238 3.03 D088 0012 4988
0.94 B264 1736 3264 3.04 9088 0012 4088
0.95 8289 711 3280 3.05 .9989 0011 .4989
0.98 8315 1685 3315 3.06 0889 0011 4989
0.97 .8340 1660 .3340 3.07 0089 L0011 4989
0.98 8365 1635 3365 3.08 9990 0010 4960
0.99 8389 1611 .3389 3.09 9960 0010 4990
1.00 5413 1587 3413 3.10 9990 0010 4990
1.01 8438 1562 3438 311 9991 0009 4991
1.02 8461 .1539 3461 3.12 9991 L0009 4991
1.03 _B4B5 1515 .3485 3.13 0001 L0009 4991
1.04 .8508 .1492 .3508 3.14 9992 0008 4992




